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for correct use of corresponding angles eg AEB = 63
or co-interior angles eg BCD = 180 — 148 (= 32) or DEB = 180~ 63 (= 117)

(dep) for a complete method to find angle EAB
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(dep on M2) all working correct with all appropriate reasons stated.
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The exterior angle of a triangle is equal to the sum of the interior opposite angles.
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or for any twa reasons clearly stated for their fully correct method)
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diagram or otherwise identified. Full
solution must be seen.

Correct method can be implied from
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contradiction.

When reasons are given the key words
underlined must be present.

Reasons need to be linked to their
method; any reasons not linked, do not
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